C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 873:9= 2) 70+2=
- - 1.
2
3
3 58+2= 4) 336+6= 4
5.
6.
7.
5 694+8 = 6) 443+6 =
8.
0.
10.
7) 32+3= 8) 17+7=
- 11.
12.
9) 60+2= 10) 78+2 =
11) 705=5 = 12) 409+9=
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Dividing Whole Numbers

Name:

Answer Key

Solve each problem.

1) 873+9= 97

3 58+2= 29

5 694+8= 8616

7) 32+3= 10712

9 60+2= 30
11) 705:5= 141

2)

4)

6)

8)

10)

12)

70:2= 35
336+6= 56
443+6= 7315
17-7= 213
78:2= 39
409:9= 4514

Answers

1 97
2 35
3. 29
4. o6
5, 8616
6. /315
7. 10r2
8. 213
9 30
10 39
11, 141
12. 4514
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